PreAP Geometry

Practice 1.2 -1.5
Directions: Use a compass and a straight edge on each construction. Show all arc marks. Highlight the final solution and make a statement (sentence) that identifies the construction using specific points. Copy all segments on your own paper for all problems.

For 1 & 2, construct a segment congruent to the given segment.

1.







      2.
For 3 & 4, construct an angle congruent to the given angle.


3.







4.

For 5 & 6, construct the perpendicular bisector of the given segment.


5.   







6. 

For 7 & 8, construct the angle bisector of the given angle.

7. 







8.

For 9 & 10, use the segments below.


9.   Construct UV, so that UV = QR + ST

10.   Construct WX, so that WX = QR – ST

11. Find the indicated values for each diagram.


12.
If KL = 2x+7, MN = 3x-1, LM=6, and M is the midpoint of 
[image: image1.wmf]KN

.  Find KM.





13.
Use the information to find the values of x in each problem if 
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a)
m(1 = (3x)º, m(4 = (x + 30)º

x = ____________


b)
m(3 = (2x + 20)º, m(4 = (x + 10)º
x = ____________

14.   
[image: image3.wmf]AB

 and 
[image: image4.wmf]CD

bisect each other at point E.  Solve for x and y if AE=2x + 4y, EB = 36, 


DE = 3x – y, and EC = 5.

x=____________    y=____________
15.   If M is the midpoint of 
[image: image5.wmf]PQ

, which of the following is false?

a) 
[image: image6.wmf]MQ
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b) PM + MQ = PQ

c)  PM and PQ are opposite rays 

d)  MQ = ½PQ        
e) PQ = 2PM

16.  The midpoint of 
[image: image7.wmf]RS

 is the point M(-12, 6).  If the coordinates of R are (-2, -5), what are the coordinates of S?

Answer: ________________

17.  The ratio of a linear pair of angles is 7:2.  Find the measure of the larger angle.

Answer: ________________

18.  The ratio of two complementary angles are 4:11.  Find the measure of the smaller angle.
Answer: ________________

19.  Suppose B is between A and C.  If BC = 73.2 and AB = 39.9, what is the measure of AC?

20.   List the between relationship if the points are collinear and  QP = 42.7, QR = 79.9, and RP = 37.2.
21.   If PQ = 26 and the coordinate of P is 12, what are the coordinates of Q?

22. If CA = 5x - 9, AT = x + 17, and CT = 74.  Find CA & AT. 

  23.   Develop a formula for finding the midpoint of a segment with endpoints A(0,0)and B(m,n). 

       Show algebraically and explain your thinking.

     24.   M is the midpoint of 
[image: image8.wmf]JK

, 
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.  Find MK.

    25. The midpoint of  
[image: image11.wmf]VW

is M(-1,-2).  One endpoint is W(4,4).  Find the coordinates of endpoint V.  
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KM = ___________





x = ____________





y = ____________
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Name ________________________________________


Period _____________		Date ____________
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